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QUESTION 1
(a) What is social interaction? (5 marks)
(b) Briefly explain what you understand by ‘socialisation’. (5 marks)

(c) Describe how a person becomes ‘socialised’ in a traditional society such as Swaziland.
(10 marks)

(d)  What are the implications of socialisation for adult teaching-learning? (5 marks)
[TOTAL MARKS = 25]

QUESTION 2
(@) Explain the concept ‘intelligence’. [5 marks]

) George Thompson’s chronological age (CA) is 80 years. His intelligence quotient (IQ) is
120.

@ Calculate, showing your working, his mental age (MA). [10 marks]

(i)  From youranswer to (i) above, Mr. Thompson could therefore be classified as among
the .... people in the country. Which would you fill in the blank?

(5 marks)

(iii)  Indicate one inherent problem with IQ measurement or rating. (5 marks)
[TOTAL MARKS =25]

QUESTION 3

(a) Identify and discuss any two (2) theories of intelligence. [2 x 10 = 20 marks]

(b)  What is the difference between the two theories you discuss. [5 marks]
[TOTAL MARKS = 25]

QUESTION 4

(a) What is personality. [5 marks]

(b)  Identify and discuss any two (2) theories of personality. [2 x 10 = 20 marks]

[TOTAL MARKS = 25]
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QUESTION S

@)
(b)
©

Explain briefly what you understand by ‘motivation’. [5 marks]

With the aid of examples, discuss McGregor’s (1960) Theory X and Theory Y.
[2 x 8 = 16 marks]
What are the implications of McGregor’s Theory X and Theory Y for adult teaching-
learning? [2 x 2 = 4 marks]
[TOTAL MARKS = 25]



